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Assignment 4.1  
 
1. Compute the entries of 𝐾" for the following axisymmetric triangle: 

𝑟$ = 0, 		𝑟) = 𝑟* = 𝑎,			𝑧$ = 𝑧) = 0,			𝑧* = 𝑏	 
The material is isotropic with 𝜈 = 0 for which the stress-strain matrix is: 

 
2. Show that the sum of the rows (and columns) 2, 4 and 6 of 𝐾" must vanish and explain why. Show as 

well that the sum of rows (and columns) 1, 3 and 5 does not vanish, and explain why.  
3. Compute the consistent force vector 𝑓"  for gravity forces 𝒃	 = 	 [0, – 𝑔]5. 
 
 

(Solutions attached in next pages)











Assignment 4.2  
 
A five node quadrilateral element has the nodal configuration shown in the figure. Perspective views of 𝑁"# 
and 𝑁$# are shown in the same figure.  
Find five shape functions 𝑁%#, 𝑖 = 1,…5 that satisfy compatibility and also verify that their sum is unity. 
 

 
 

(Solutions attached in next pages












